WO APRISNSId Mmmm// sdiy

hitps://www.ccsusiudy.com hitps://www.ccsusiudy.com

D (Printed Pages 4) 2. What is the Basis of review as mentioned
(20221) ROINNO. .o Under Employees Compensation Act? 3
B.B.A.-V Sem. -
| ) 3. _\What is Retrenchment? 3
=
(@%5 4. Describe the rules related to contribution
- f/"‘
B.B.A. Examination, Dec.-2020 <7 Payable to an Employee? 3
Industrial Law : - _
(BBA-505) > Wwrite a very short note in EPFQ. 3
Time : Three Hours | IMaximum Marks : 75 Section-B
- jm
Note : Attempt questions from all sections - ] (Short Answer Questions)
£ £ . - :
as per instructions. 2 Z Note : Answer any two questions out of
| T Section-A E 2 the following three questions. Each
z‘* z” question cames 7% marks. Short
(Very Short Answer Questions) & =
' ' g g answer 1s required not exceeding 200
Note : Answer all the five questions. Each = =

worgs, 7Vax2=15

question carries 3 marks. Very short
6. Expian in bnef the Factories Act 1948.

answer is required not exceeding 75 ~

72

words. =
._ 3x5=15 7. Discuss the method of calculating wages

1. What are the measures of health that are p .
for the purposes of paying compensation.

incorporated in the Factories Act 19487 2y
2

3

P.T.0. 18065/2
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Drffcuss the Employees Provident Fund

Schemae. 7'

section-C

(Detailed Answer Questions)

Note : Answer any three questions out of

the following five guestians. Each
question carries 15 marks. Answer is
required in detail. 1S%x3=4%

welfare in the Factories Act, 1948. 15

10. Give the interpretation of various terms

in Employees Compensation Act 1923.

15

c)l-r‘}'rhat are the stnke and Lockout as

1806S5/3

interpreted irithe Industrial Disputes Act

1947. 15

P.T.O.
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Slate the different  definitions of the

12,
lermes thal  comes  Under  Employees
State Insurance Act, 1948, 15
13. Describe the Employees Provident Funds
Appellate Tribunal, its constitution and
stalf. 15
https://www.ccsustudy.com
Whatsapp @ 9300930012
Send your old paper & get 10/-
Fget gyt dodr frar it 10 sad ord,
18065/4 Pavtm or Google Pay &

hitps://www .ccsustudy.com

WO APRISNSId M,/ sdiy



WO APRISNSId Mmmm// sdiy

hitps://www.ccsusiudy.com hitps://www.ccsusiudy.com

D (Printed Pages 4) '
(20221) ROl NO. oo %;cpiain Normal Profit and sup-er Profit.
B.B.A. - V Sem. h - Section-B
(Short Answer Questions)
18061 Note : Attempt any two questions out of
B.B.A. Examination, Dec. - 2020 the foliowing three questions. Each
Managerial Economics question carries 7%z marks. Short
(BBA-502) answer is required not exceeding 200
Time : Three Hours | [Maximum Marks : 75 - words. 7Vax2=15

Note : Attempt all the sections as per 6. What is Law of variable proportions?

= =
instructions. ? § ;/'“"fl'-.‘-\rom the following table, Calculate
Section-A § § < (i) Total Revenue (ii) Average Revenue
i a o and (iii) Marginal Revenue.
(Very Short Answer Questions) % 3%; f B ction Selling Price
Note : Attempt all five questions. Each % g_ (In Units) (Per Unit)
question carries 3 marks. Very short % § 500 T0.00
answer is required not exceeding 75 5000 9.50
words. 3x5=15 4000 9.00
T/,l/ﬁvhat is law of supply? 8.50
C/Z{./_What are the limitations of demand 4000 :
forecasting? 5000 8.00
-3~ Discuss the scope of managerial 6000 7.50
economics. 8~ WhV do demand curve slope downwards
hat do you understand by Break Even < to the right?
Analysis? 18061/2
P.T.O.
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Section-C
(Detailed Answer Questions)
Note ;: Attempt any three cuestions out of
the following five guestions. Each
question carries 15 marks answer is
required in detail. 15%3=45

yﬁhat do you understand by Perfect

Competition? How Prices are determined
under it,

QJ//)P%ﬁt is the reward for risk-taking and

uncertainty bearing.” Explain.

o rsdiy

11. The following informations are obtained

from Laxmi Ltd: htps://www.cesustudy.com

WO APRIsnsaarm
Woy Aprisnsaa mam//isdiy
WO APRISNSId Mmm// sdiy

Sales ¥ 50,000; Profit ¥ 5,000, Fixed

Cost = ¥ 15,000

Calculate P/V Ratio in the following

Conditions:

(a) Selling Price increased by 20%

(b) Fixed Cost decreased by 10%

(c) Variable Cost decreased by 10%
18061/3 P.T.0.

hitps://www .ccsustudy.com

12,

13.

hitps://www.ccsusiudy.com
Define Monopoly and explain how Price is
determined under monopoly conditions?
The following information has been
collected in an economic investigation
into the demand for room coolers in five

different towns in the year 2017:

Towns | Populations in Demand for
Lakhs (x) Room-Coolers (y)
A 4 40
B 6 60
C 7 50
D 10 70
E 13 80

Fit a linear regression of y on x by the
Least square method. Supposing that
the same relationship holds true for a
town with a population of 50 Lakhs. Find
out the number of Coolers which would

be sold.

18061/4
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D (Printed Pages 4) 2. What is the Basis of review as mentioned
(20221) ROINNO. .o Under Employees Compensation Act? 3
B.B.A.-V Sem. -
| ) 3. _\What is Retrenchment? 3
=
(@%5 4. Describe the rules related to contribution
- f/"‘
B.B.A. Examination, Dec.-2020 <7 Payable to an Employee? 3
Industrial Law : - _
(BBA-505) > Wwrite a very short note in EPFQ. 3
Time : Three Hours | IMaximum Marks : 75 Section-B
- jm
Note : Attempt questions from all sections - ] (Short Answer Questions)
£ £ . - :
as per instructions. 2 Z Note : Answer any two questions out of
| T Section-A E 2 the following three questions. Each
z‘* z” question cames 7% marks. Short
(Very Short Answer Questions) & =
' ' g g answer 1s required not exceeding 200
Note : Answer all the five questions. Each = =

worgs, 7Vax2=15

question carries 3 marks. Very short
6. Expian in bnef the Factories Act 1948.

answer is required not exceeding 75 ~

72

words. =
._ 3x5=15 7. Discuss the method of calculating wages

1. What are the measures of health that are p .
for the purposes of paying compensation.

incorporated in the Factories Act 19487 2y
2

3

P.T.0. 18065/2
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Drffcuss the Employees Provident Fund

Schemae. 7'

section-C

(Detailed Answer Questions)

Note : Answer any three questions out of

the following five guestians. Each
question carries 15 marks. Answer is
required in detail. 1S%x3=4%

welfare in the Factories Act, 1948. 15

10. Give the interpretation of various terms

in Employees Compensation Act 1923.

15

c)l-r‘}'rhat are the stnke and Lockout as

1806S5/3

interpreted irithe Industrial Disputes Act

1947. 15

P.T.O.
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Slate the different  definitions of the

12,
lermes thal  comes  Under  Employees
State Insurance Act, 1948, 15
13. Describe the Employees Provident Funds
Appellate Tribunal, its constitution and
stalf. 15
https://www.ccsustudy.com
Whatsapp @ 9300930012
Send your old paper & get 10/-
Fget gyt dodr frar it 10 sad ord,
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D (Printed Pages 4)
(20221) Roll No. ..
BBA.-V Sem.

18063

B.B.A. Examination, Dec. 2020
Income Tax Law and Account
(BBA-504)

Time : Three Hours | [Maximum Marks : 75

Note : Attempt questions from all Sections
as per instructions.
Section-A

(Very Short Answer Questions)

Note : Attempt all the five questions. Each

question carries 3 marks. Very short

answer is required not exceeding 75

words. 3x5=15

1. Distinguish between "Tax Planning and

Tax Avoidance".

2. Define Assessee.

T .
.. 3, Distinguish between Gross Total Income

and Total Income.
E’iplain the previous year,
5. Explain "Tax Evasion"

P.T.O.

hitps://www .ccsustudy.com
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bé/tﬂl-ﬁne agricultural

e

hitps://www.ccsusiudy.com

. ... Section-B
(Short Answer Questions)

Attempt any two questions out of
the Fo!lDwing three questions. Each
question Carries 7%2 marks. Short
answer is required not exceeding 200
words. "t 7%x2=15
income. Give

examples of non-agricultural income.

?./J;J-iscuss the provisions of Income Tax

Note ;

- Act regarding exemption of following

incomes:
(1} Rent Free House
(ii) Entertainment Allowance

8. Define transfer. What are the transactions

which are not regarded as transfer for
computation of capital gains?
Section-C
(Detailed Answer Questions)

Note : Attempt any three questions out of
the following five questions. Each
question carries 15 marks. Answer Is
required in detail. 15x3=45

9. Tax Liability depends upon the residential

status of an assessee. Explain in details.
10 Explain the provisions of the Income-Tex
Act in the cases,
(i) Deduction U/S 80C
18063/2
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hitps://www.ccsusiudy.com

Deduction U/S 80G

(iii) Deduction U/S 80TTA

11. Particulars of income of Mr. Suresh an
employee with Reliance Industries Ltd.
in Mumbai, for the financial year ending
on 31st March, 2019 are as follows:-

(1)
(ii)
(iii)
(iv)

(V)

Basic salary Rs 25,000 per month
Dearness pay Rs 3,000 per month
{(Under terms of employment)

5% commission on sales (sales were
Rs 15,00,000 during the aforesaid
financial year).

Rent free furnished house, fair rent
being Rs. 7,300 per month. Value of
furniture in the house is Rs. 1,20,000.
Entertainment allowance ¥ 500 per
month.

(vi) Bonus equal to four month's salary.
(vii) The company has provided him

a large car for official as well as
private purposes. All expenses
including driver's salary are borne
by the company.

(viii) The company paid ¥ 3,000 to wards

his profession tax,

(ix) He contributes ¥ 7,500 per month

18063

towards recognized provident fund.
P.T.O.
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The empigye's contribution is equal
to that of employee's.

Compute taxable income frem salary
for the assegsment year 2019-20.

12. Mr. D'souza sold following assets in the
previous year 2018-19.

D
(i)
(iii)
(iv)

(v)

Machine purchased on 01.06.2018
for ¥ 10,000 was sold for 15,000.
Furniture purchased on 01.05.2018
for ¥ 2,000 was sold for T 3,000.
Sold shop for ¥ 1,50,000 which was
purchased in 1986-87 for ¥ 18,000.
Machine purchased in 1984-85 for

I 40,000 w3s sold for ¥ 50,000,
(Written down value on 01.04.2018
was ¥ 30,000).

Sold house for ¥ 3,50,00 which was
purchased in 1987-88 for ¥ 45,000,
He purchased another house in the
previous year for ¥ 1,60,000. Compute
his taxable capital gains. Cost inflation
index: 2001-02-100; 2018-19-280.

13« Discuss the provisions of set-off and
carry forward anc of the following losses:

()

Loss from biisiness

(ii) Short-term capital loss
(iii) Loss from fottery.

18063/4
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(202223 Roll No.
B.B.A-V Sem

18062 (CV-III)
B.B.A. Examination, December-2021
Entrepreneurship and Small

Business Management
(BBA-501)
{

Time : 1 Hours | [Maximum Marks : 7
Note : Attempt all the sections as per
instructions.
Section-A
(Very Short Answer Questions)
Note : Attempt any two guestions. Each
question carries 7.5 marks. Very short
answer 15 required not exceeding 75
words. 2x7.5=15
1. "Entrepreneurship is an innovative
function. It is a leadership rather than

ownership." Discuss in brief.

P.T.0.

https://www.ccsustudy.com

U ad

La

5.

what is PERT”

Concept of "Post pay-back period".

problems of E.D.P.

what 1s meant by "Project Report"?
Section-B

(Short Answer Questions)

Note : Attempt any one question out of

the following three questions. Each
question carries 15 marks. Short
answer Is required not exceeding 200
words. 1x15=15
Discuss the role of entrepreneurship in

€conomic development,

7 o
*+ "The regulation of industry is the

necessity of the present day."” Discuss the
main reasons of regulation of industry

While explaining the apove statement.

8. i

Explain in prief the different stages of
. Project preparation,
8082 (cv-111) /5

https://www.ccsustudy.com



Section-C
(Detailed Answer Questions)

Note : Attempt any two questions out of

the following five questions. Each
question carries 22.5 marks., Answer
is required in detail. 2x22.5=40

9 Discuss the business qualities of @
successful entrepreneur.

10. What types of skills are needed by
an entrepreneur for the effective
establishment and operation of an
enterprise? Describe.

11. Describe the steps taken by the present
government to develop and promote
small and ancillary industries IN one
country.

12. Describe the main problems of industriaj
cooperatives and the Suggestions to

remove them.

18062 (CV-111)/3
P,,T_n,.

https://www.ccsustudy.com

Four different Jobs can be done on four
different machines. The set-up and take-
down time costs are assumed to be
prohibitively high for changeovers. The
matrix below gives the cost in rupees of

producing job i on machine J.

Machines
M, M, M, M,
J, 5 |7 11 |6
J, 18 |5 9 |6
Jobs ], 4 | 7 10 | 7
Jo 1|4 |8 |3

How should the jobs be assigned to the

various machineg SO that the tota| cost is

minimized?

18062 (CV-111)/4
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D (Printed Pages 4)

(20221) Roll No. ..oeviiiiiiiinannnn.

B.B.A.-V Sem. ‘
18066

B.B.A. Examination, Dec.-2020

COMPUTER FUNDAMENTAL
(BBA-506)
Time : Three Hours | [Maximum Marks : 75

Note : Attempt questions from all sections
as per instructions.
Section-A
(Very Short Answer Questions)
Note : Attempt all the five questions. Each
question carries 3 marks. Very short
answer is required not exceeding 75

words. 3x5=15

W is "generation" in computer
rminology?

2. The meaning of the term "memory

dump".

P.T.O.
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3. Why unicode was developed?

r/g/m computers use the binary number

system?

S/Mat is an 1C? Explain advantages its.
Section-B

(Short Answer Questions)

Note : Attempt any two guestions out of
the following three questions. Each
question carries 7% marks. Short
answer is required not exceeding 200
words. 7v2x2=15

6 xplain the key difference between read

and write operations on memaory.

c?/h;ﬁme some popular secondary storage
devices used in computer systems today.

8. What factors determine storage capacity
of disks?
Section-C
(Detailed Answer Questions)

Note : Answer any three questions out of

18066/2
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the following five questions. Each
question carries 15 marks. Answer is

required in detail. 15x3=45

Mﬁﬁ is memory card? Write its features

and its typical uses.

1 short notes on :
(a) Mouse.

(b) Electronic Pen,
(c) Touch Screen.

11. What is communications software?
Normally, hardware is a one-time
expense, whereas software is a continuing
expense. Explain.

12. What is Flow chart? Why do flow charts
use standard symbols? How does a
flowchart help a programmer in program
development?

18066/3 P.T.O.
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WO APRISNSId mma,// sdny

WO APRISNSId M/ sdiy

13. What is program codin

18066/4

hitps://www.ccsusiudy.com

g? The advantages

and limitation of machine language.

Explain.
OR

xWﬁéﬂs the Internet? In what manner

is email service similar to postal mail

service? In what manner the two are

different from each other?

https://www.ccsustudy.com
Whatsapp @ 9300930012
Send your old paper & get 10/-
Fger gt Uad frar s 10 sudr ard,
Paytm or Google Pay 3
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D (Printed Pages 4)
(20221) RO NO. +veverrreer. Section-B
BBAY Serm. (Short Answer Questions)
Note : Attempt any two questions out of
18064 the following three questions. Each

question carries 7% marks. Short

B.B.A. Examination, Dec,.-2020 : ,
answer is required not exceeding 200

Cost & Management Accounting

(BBA-503) _yords. 7V2%x2=15
— 6. ifferentiate Financial Accounting and
Time : Three Hours | . [Maximum Marks : 75 Cost Accounting.
Note : Attempt questions from all sections = =3 7.  Whatis meant by overhead classification?
as per instructions. ? i ‘.__B:’"(Calculate the cost of materials consumed
Section-A g g | ’
(Very Short Answer Questions) i i Opening Stock of materials 12,000
Note : Attempt all the five questions. Each g g Materials purchased 60,000
question carries 3 marks. Very short u%r" g‘ Carriage inward for materials 100
answer is required not exceeding 75 § § Defective materials returned to
words. 3x5=15 ) i suppliers at cost 1200
w do you calculate cost per unit? Closing stock of materials 41,500
2. hat do you mean by Economic Order Section-C
/z antity? (Detailed Answer Questions)
3. What is the meaning of Serap? Note : Attempt any three questions out of
4/'/\/1%& any two objects of Management the following five questions. Each

' ' rks. Answer is
Accounting. question carries 15 ma

required in detail. 15%3=45

5 W s Absorption Costing Technique?
P.T.O. 18064/2

hitps://www .ccsustudy.com hitps://www .ccsustudy.com

WO APRISNSId mma,// sdny



WO APRISNSId Mmmm// sdiy

hitps://www.ccsusiudy.com

9., _Tabulate the 'Elements of Cost' showin
M_ ! Qs G

the usual items of expenditure pertaining
the each.
10. From the‘i‘ol‘sowing data

(2a) Calculate the labour hour rate of a
worker-
Basic Pay per month ¥4,000
Dearness Allowance per ¥3,000
month
Other Allowances per T3,000
month

No. of working days in a year 3300

WO APRISNSId mma,// sdny
WO APRISNSId M/ sdiy

30 days full pay and 20 days half
pay leave in a year is available and
allowed. Working hours per day are
8.

(b) What would be the labour cost per
hour if half pay leave is not availed

of during the year.

hitps://www .ccsustudy.com

hitps://www.ccsusiudy.com

11. What are the characteristics of unit
costing? To what type of concerns output
costing method is suitable?

12. peﬁne management accounting and
discuss its objects. th is it called an
essential tool for management?

13. On the basis of following information
determine the product-mix vyielding

maximum profit. htps://www.cesustudy.com =
Product A B C i
Material Per unit 10Kg 6Kg 15Kkg £
Machine hour 6hrs 10hrs 8hrs g
per unit E,
Selling price 7250 %200 2400 S
per unit
Maximum 1500 1000 750
possible production units units units

Machine hours for production are available
up to 18,400 maximum at %5 per hour and
22500 kg of raw materials @ ¥20 per kg can

be obtained.

18064/4
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D (Printed Pages 4)
(20221) ROMN NO. vvvrereeeiirnanseennes
B.B.A.-V Sem.

18062

B.B.A. Examination, Dec.-2020
Entrepreneurship and Small Business
Management
(BBA-501)
Time : Three Honrs | [Maximum Marks : 75
Note : Attempt all the sections as per
instructions. |
Section-A
(Very Short Answer Questions)
Note : Attempt all the five questions. Each
question carries 3 marks. Very short
answer is required not exceeding 75
words. 3x5=15
1. Sufccessful entrepreneurs are said to
/‘ have certain common characteristics.

Explain them,

p.T.0.
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//2’7 What is environmental analysis.

3. Mention steps to prepare a business

plan,

4. Problems of EDPs.

5. Describe how innovation is an important

dimension of entrepreneurship.
Section-B
(Short Answer Questions)

Note : Attempt any two questions out of
the following three questions. Each
guestion carﬁ95 7% marks. Short
answer is required not exceeding 200
words. 712x2=15

6. What are the methods of finding initial

d_ff- feasible solution of a transportation

problem? Explain the VAM methods,

T
#

/7'f "Entrepreneurs are born not made."

—

Comment.

,",EDP is a3

entrepreneurs.” Explain,
g062/2

process of grooming

8.
A !"_'_.-F'

hitps://www .ccsustudy.com
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Settjon-C

(Detailed Ang, o+ Questions)

Note :

Attempt any ywree questions out of
the following five questions. Each
question Carres 15 marks. Answer is

required in detaji, 15x3=45

g. The following tble gives the factory

to warehouse Innsportation costs in

rupees,

quantities available at each

factory and quantities required at each

warehouse. Determine the least cost

transportation schedule:

Factory W, W,
F
F
F

Warehouse

. 9 7 100 8 14
) 8 11 ¢ 11 27
3 13 10 12 10 14
Requirements 15 19 11 107 55

18062/3
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W, W, Availability

PoTI-OI
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10. What is plant layoyt? point out the
characteristics and principles of an ideal
plant layout.
1 escribe the stepsand legal requirements
for e?stablishing a new business unit in

.
Py f

India.

/Mls the entrepreneur the same as d

manager? If not, point out the difference
between the two.

13. Write explanatory notes on following:
(a) Trait theory of entrepreneurship.
(b) Psychological theory of

entrepreneurship.

(c) Role of entrepreneurship.

https://www.ccsustudy.com
Whatsapp @ 9300930012
Send your old paper & get 10/-
Fger gt Uad frar s 10 sudr ard,
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18062/4

hitps://www .ccsustudy.com

WO APRISNSId M,/ sdiy



